Rl REEZANS—

A ol

#FTINE H2THE
3 ~ 55 Fl) AR B (1E1548)
mag | RUE | mm | POREEIEE | aang | Y e
A 1 380 460 46 50 40/1000 6
A 2 436 460 46 50 40,/1000 6
it 3 493 460 46 50 40/1000 6
it 4 548 460 46 50 40,/1000 6
FAHE 5 605 460 46 50 40/1000 6
E& - /)
X 2WF LR3I O BT T AT O AL, X 70/100
5~ 7855 ¥l A B
mag | RUE | mm | PRI ang |
i 1 572 460 46 50 40/1000 6
N 2 676 460 46 50 40/1000 6
i 3 780 460 46 50 40/1000 6
EANE 4 884 460 46 50 40/1000 6
Ei#E b 988 460 46 50 40/1000 6
($1_L =)
¥ 2WFE LA B S3IRFRI RN O #2417 O LA L, X 70/100
7~ 9Fs [ Fl F Bf
mag | RUE | mm | PEORREIRE | e | | e
Nt 1 656 460 46 50 40,/1000 6
C 775 460 46 50 40,/1000 6
FAE 3 898 460 46 50 40,/1000 6
o 4 1,021 460 46 50 40,/1000 6
Hii# b 1, 144 460 46 50 40,/1000 6
Ef - /)
X 2R LA R3REREI AT 0T A2 1T 9 5 aiE. X 70/100
AT B BT A
7~ 9BF i FI| A B
maE | FUTE | &% | mesen b | Vo R0 | SEBREUL
ST 1,647 460/ 225/ 11 24 40/1000
B 2 3,377 460/[a] 225/ 1 48 40/1000
AE BRERMICZIALEVERFTEOFRIZOVWTIIBEOBIREBLEE A,

X 1HIZD2E + FrEHEfL x 19/1000




Rl REEZANS—

A ol

(IHE2)

#FTINE H2THE
3~ 51 ] FI| FA FF (2E1548)
mag | RUE | mm | POREEIEE | aang | Y e
A 1 760 460 92 100 40/1000 12
i 2 872 460 92 100 40,/1000 12
i 3 986 460 92 100 40/1000 12
i 4 1, 096 460 92 100 40,/1000 12
FAHE 5 1,210 460 92 100 40/1000 12
<$ﬁ =)
X 2WF LR3I O BT T AT O AL, X 70/100
5~ 7 B3 i8] F1l AR s
mag | RUE | mm | PRI ang |
T 1 1, 144 460 92 100 40/1000 12
i 2 1, 352 460 92 100 40,/1000 12
ritE 3 1, 560 460 92 100 40/1000 12
EANE 4 1, 768 460 92 100 40/1000 12
T 5 1,976 460 92 100 40/1000 12
($1_L =)
X 2WF L 3R AT OB T 21T O SaiL. X 70/100
7~ 9Fs [ Fl F Bf
mag | RUE | mm | PEORREIRE | e | | e
i 1 1,312 460 92 1100 40,/1000 12
G ) 1, 550 460 92 100 40,/1000 12
FAE 3 1, 796 460 92 100 40,/1000 12
ThE 4 2, 042 460 92 100 40,/1000 12
Hii# b 2, 288 460 92 100 40,/1000 12
($1_L )
¥ 2IFILL R3S O A 1T O A, X 70/100
I SaE s
7~ 9BF i FI| A B
maE | FUTE | &% | mesen b | Vo R0 | SEBREUL
B 1 3, 294 460/ 450/ H 48 40/1000
B 2 6, 754 460/[a] 450/ 1 96 40/1000
3R BRERERMICZLLAVEREORAICOVNTIIBEOHINERLE A,

X 1HIZD2E + FrEHEfL x 19/1000




